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Answer all the questions.

1. Compute all MSNE of the following two-player game (without using calulator).

B The set of players (N) : {1, 2}

B The set of strategies: S1 = S2 = {A,B,C}

B Payoff matrix:

Player 2

A B C

Player 1
A (1,−1) (−1, 1) (2,−

1
e
)

B (−1, 1) (1,−1) (3,−
√
π)

C (−0.59, 3) (−
1
π

, 6) (2, 103)

[10 Marks]

2. Prove or disprove the following statement.

B Let A ∈ Rm×n be a matrix such that the sum of the entries of every row and column
is 0. Then the value of the matrix game A is 0.

[10 Marks]


